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And she thinks he had a mishap — DUINT 1729

OVERVIEW

The &3 concluded that the ruling of X297 that v°32 01X X (and if the *Xin was
fulfilled, even because of an 01X, the v3 is valid), is based on the logic that (if we
would maintain Y32 01X ¥°) there would be a problem with women who are
either My (modest)! or Mx11d (promiscuous?). MooIN explains why they are
referred to as MyNIX or MX1MY, respectively.
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For according to the law, we are not obligated to suspect that perhaps he did

not return due to an 81X, for the majority of people do not experience 23NN -
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And therefore, the X723 refers to these women (who will not remarry, unless they
verify that the fulfillment of the °Xin is not due to an 01X) as nwnx, for they are

strict with themselves, even though legally they may remarry (since *o°1x X7 1a1).
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And regarding nx11p the text do not read, ‘and she assumes that there was no

o1R’, but rather the text read ‘and she says, ‘there was no o1’ -
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The explanation (why she is called a 7¥179) is that even if there is a rumor that

he was 921X, she will say that she knows for sure that he was not ©31R (even if she

does not know whether he was 9°IX or not) -
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Or furthermore even if she herself knows that he was %X but others do not

!'In the case of mMyuY we are concerned that even though the >Xin was fulfilled (the husband did not return within the
specified time), however the woman (because she is a 7¥11¥) is concerned that perhaps there was an o1 that caused
her husband not to return, and if we maintain 102 01X ©°, the vi is not effective, and the woman will not remarry,
when in truth (there was no o1& and) she may remarry. See footnote # 3.
2 In the case of mMy¥1d we are concerned that the woman will remarry (illegally) even if the *Xin was fulfilled (the
husband did not return) only because of an 01X, where (if we maintain 7032 01 ¥°) she is not permitted to remarry.
Since she is a X179, she will remarry regardless of the circumstances.
3 mooin explains why we refer to these (cautious) women as Myg; since we do not know the reason why the
husband did not return, it seemingly behooves us not to permit her to remarry until we verify the circumstances why
he did not return and we can ascertain that it was not due to an 01X.
4 If she remarries because she assumes there was no 01X, we cannot call her a 7%179; as MOIN just said that if the
*Xin was fulfilled she may remarry legally since *0°1X X7 121
5> Once there is a 7p that 02X, the 7" will not permit her to remarry unless we verify the 7.
% If she maintains that she knows he was not 1%, the 7"2 will not prohibit her from remarrying (because of a 71p).
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know that he was 07x, she will (lie and claim he was not 07X and) remarry illegally (if we
assume U1 01X ).

n1voIN asks:
= SNPYL INNN VI NN I YN 279 i1 HN IR ON)

And if you will say; in the case where the husband dies within the twelve months
(where the ruling is that it is not a v [unless he said 1w>yn]), it should also be a wa

for the same reason -
= 10925 INYIY HNIT N30 NN NDT PPy

For occasionally it may be that he did not die (and therefore the v3 is valid [for
there was no 01X, and it was not 71n°2 nx7]) and she will assume that he died (so
the va is invalid [since 30°n RS 03 1°R]), and she will remain an 733 -

N1D0IN answers:
1Y 1IN NP NNINIT 9 U

And one can say that there is publicity regarding death, and therefore if we do not
hear that he died, even the m»ix will assume that he is alive, the °Xin was fulfilled, the va is
valid, and they will remarry.

SUMMARY

There is no wwn for 01X legally, however the n¥1x are strict for themselves, while
the M¥179 may remarry even if (they know) it is legally prohibited. There is no
concern for 710 01X since there is publicity surrounding a death.

THINKING IT OVER
mooN asks that by Wi 2> 71 1897 it should be a v3 because of the myux.!! Why
did not NN ask (also) that it should be a v3 because of the X1 as well?!1?

7 This is obviously a much greater 7¥119 than the previous case.
8 X211 is teaching us that even though legally 7v>32 01X w° and therefore in a case of DI it is not a 3, nevertheless on
account of My (and NX11D), we rule Y>3 01X "R and validate the vi. The same should be true in the case of "7
WTIN 2% T IROM *NRA KD OX Tu°), that even though legally it is not a v (since N MR VA PR), nevertheless because of
the N we should validate the v (even though that it is 7in" Tnx?]). See ‘Thinking it over’.
% Xa1w°m which is related to the word 7113y means that the woman is ‘anchored’ in place and cannot remarry.
10 In our case the issue is 0127 if the v is valid she can remarry, however if the v is not valid, she is 212°% P77, and
if for some reason there can be no 012’ or 77¥°51, she will remain an 7313v.
' See footnote # 8.
12 See w"x777 NvON.
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